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In the figure, two different squares and two identical rectangles are drawn inside the large square
with area of 225 cm?. The long side of one of the rectangles is 3 cm more than the short side.

According to this, what is the difference in the areas of the two squares drawn inside?

Ha pucyHke BHyTpu BonbLuoro kBagpata nnowaabto 225 cM? HapucoBaHbl Ba pa3HbiX KBagpara u
ABa OOMHAaKOBbIX NPAMOYroribHuUKa. [AnnMHa NnpsiMoyronbHUKOB Ha 3 CM BosbLUe LUMPUHBI.

Mo AaHHbIM, YeMY paBHa pa3HOCTb NoLafAen ABYX KBaApaToB, HAPMCOBAHHbLIX BHYTPU?

A) 54 B) 49 C) 45 D) 42

2. The following ratios are given among the numbers a, x, y, and z.
Yucna a, X, Yy 1 Z yOOBMeTBOPSAIOT CreayowmmM COOTHOLLEHNSAM:

1

2

X_

X
y z
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What is the value of the ratio of 377

-
Yemy paBHO 3HaY€HNE BbIPaXEHUS 3.y 7

A) 2 B) C) 1 D)
4

|k
|

E) 36
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3. In the figure the triangle KLM whose vertices lie on the sides of rectangle ABCD is given.
Ha pucyHke gaH tpeyronbHuk KLM, BepLUnHBbI KOTOPOro nexxar Ha CTopoHax npsamoyronbHuka ABCD.

D M c
; b
C
sl
45° d
A K B
If m(MKL) =45°

then what is the value of the sum a+b+c+d in degrees?
Ecnn m(MKL) =45°
Yemy paBHO 3Ha4yeHue cyMmmbl a+b+c+d B rpagycax?

A) 135 B) 180 C) 195 D) 210 E) 225

4. Each of the different numbers obtained by writing each digit as much as itself will be written side
by side and summed as shown below.

1+22+333+4444+...+999999999

What is the sum of the last two digits of the number obtained by this summation?

Hwxxe HanmcaHo BbipaXkeHue, B KOTOPOM aHa CyMMa YMCer, MOSyYeHHbIX NyTeM 3anMcu Kaxaom
undpsbl, B KONUYECTBE paBHOW camou cebe..

1+22+333+4444+...+999999999

Uemy paBHa cymma nocriegHux AByx umdp Yncna, nosly4eHHoro B pesyrnsrate Takon CyMMbl?

A) 13 B) 14 C) 15 D) 16 E) 17
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5. Find the value of
HanguTte 3HayeHune BblpaxkeHus.

1012* + 20247 + 3036 + 4048’

1012 + 2024 + 3036 4+ 4048
A) 1012 B) 2024 C) 2530 D) 3036 E) 4048
6. D M C There are 3 squares in the figure above.
Since the area of the smallest square is 36 cm? and the area of
36 the median square is 49 cm?, what is the perimeter of the shaded
49 shape?
K L
b F Ha pucyHke Bbiwe 3 kBagpaTa.

Yemy paBeH nepumMeTp 3allTpuUxoBaHHOW urypsbl, ecnv nnowaab
HauMMeHbLlero KeBagparta paBHa 36 cMm?, a nnowagb cpegHero
g KBagpata 49 cm??

A) 35 B) 37 C) 40 D) 43 E) 48
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7. a, b and c are reel numbers satisfying the system
[dencteutenbHble Ynucna a, b u ¢ yaoBneTBOPSIOT CnegyowmmM paBeHCTBaMm.

1 1 1 _=3.
+ + =3
a+b a+c b+c

a . b 4 ¢ =18
b+c c+a a+b

Find a+b+c?
Yemy paBHa cymma a+b+c?

A)5 B)6 C)7 D)8 E)9

8. Ahmet and Burak are swimming in a river which is 700 metres long and flows at a constant speed.
The swimming speeds of each of Ahmet and Burak are different from each other and the speed of
each in the same direction with the current is 2 times their speed against the current. When they
start swimming against the current at the same time, Burak finishes 700 metres and when he turns
back, he meets Ahmet after swimming 70 metres.

Accordingly, when Burak finishes the race, how many more metres does Ahmet have to swim to
finish the race?

AxmeT n bypak nnasatot B peke anuHon 700 MeTpoB, TeKyLLen C MOCTOAHHON CKOPOCTbD. CKOPOCTb
nnaBaHus AxmeTta n bypaka pasnuuyHbl, 1 CKOPOCTb KaXaoro U3 HUX MO TEYEHUIO pekn B 2 pasa
bonblle, 4eM UX CKOPOCTU MPOTMB TedeHus pekn. Korga OHM OQHOBPEMEHHO HaYMHAKT MNIblTb
npoTneB TedeHnd, bypak 3akaHymsaeT nyTb B 700 MeTpoB, NoBopaymBaeTcs Hasag, u nponnbis 70
MeTpoB, BcTpeyaeT AxmeTta. CornacHo atomy, korga bypak oOkaHuyMBaeT, CKOMbKO elle MeTpoB
HY>XHO NPonSibITb AXMETY, YTOBbI OKOHYNTL?

A) 350 B) 320 C) 300 D) 280 E) 240
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9. In a5 x 5 grid, a frog that starts moving from the desired square has two different movement
abilities.

1 It can jump over a square in the same row or column and move to the 2nd square.
1 It can move to the neighbouring square on the diagonal.

For example in the figure below the frog in square 1 can move to one of the squares labelled 2.

B cetke 5x5 narywka, Kotopas HauMHaeT ABuraTbCA C NOGOro KBagpara, MMeeT OBa pasHbIX
cnocoba nepeaBmKeHus.

1 OHa MOXeT nepenpbIrHyTb Yepes KINeTKy B TOW e CTPOKe 1iv cTonbLe 1 nepemMecTUTbCs Ha BTOPYHO
KNeTKy.
1 OHa MOXET NepeMeCcTUTLCA Ha COCEAHION KNeTKy Mo AuaroHarnu.

Hanpumep, Ha pUCyHKe HXKe NAryLlka nu3 KneTkm ¢ HoMepom 1 MoxeT nepeMecTUTbCS B O4MH U3
KNEeTOK C HOMepPOM 2.

2.

2| |2
2 1 2

2| |2

=

If the frog can go to each small square at most once, at most how many squares can it go?
Ecnu narywka moxeT npoObiTb B KaXOoW KneTke MakCMMyM OAMH pa3, TO MakCUmyMm
CKOJTbKO KIMETOK OHa CMOXET NOCETUTbL?

A) 12 B) 13 C) 14 D) 24 E) 25
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10. The open form of a cube with numbers written on it is given below. When this cube is closed,
three faces meet at each corner.

Hwxe npuBegeHa oTkpbiTas ¢opma Kyba C HanucaHHbIMM Ha Hem udmcnamu. Korga aToT KyO
3aKpbIBAETCSH, B KAXXAOM Yriy BCTPEYAOTCA TPU rPaHu.

According to this, what is the maximum sum of the numbers written on the three faces that meet at
any corner?

CornacHo aTomy, 4YeMy paBHO HanborbLuee 3Ha4eHne CyMMbl YNCEN, HAaNUCaHHbIX Ha TPeX rpaHsXx,
BCTPEYaloLLMNXCH B KAKOM - TO yriy?

A) 14 B) 15 C) 16 D) 17 E) 18

11. In a class of 30 students, 3 different books will be distributed to each student. These books
belong to maths, physics, chemistry and biology courses. The books of a course are identical in
themselves .Since a total of 25, 24 and 21 maths, physics and chemistry books were distributed
respectively, how many students did not receive a biology book?

B knacce 13 30 y4eHMKOB KaXKgoMy YY4eHUKy ByayT po3gaHbl o 3 pasHble KHUMM. OTU KHUMM OTHOCATCS
K Kypcam matemMaTtuku, pmamku, xummm n buonorun. KHurmn kypca camm no cebe ogmMHaKkoBbl.
MockonbKky B obwem 6b10 po3gaHo 25, 24 n 21 y4ebHUK NO matemaTuke, (pusmnke n xmmum
COOTBETCTBEHHO, CKOMIbKO YY4EHUKOB HE NONyyYnnm y4ebHuk no éuonormm?

A)9 B) 10 C)n" D) 12 E) 13
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12. The following numbers are written according to a rule.
Cnepytowme 4ymcna 3anncaHbl No KakoMy - TO Npasury.

1

2 3

4 5 6

7 8 9 10
11121314 15

16 ...

According to this rule what is the smallest number in the row which includes 2007
CornacHo aToMy npasusy, YemMy paBHO HaUMEHbbLLEE YNCIO, HAaXOAsLWeeca B TOM Xe Psay 4To U
2007

A) 197 B) 191 C) 188 D) 183 E) 171

13. The following number is obtained by writing consecutive integers from 1 to 50 side by side.
1234...4950

Deleting some digits from the number above, it is desired to obtain the largest number with 81 digits.
What is the sum of the deleted digits?

Cnepytowee 4mcno nonyyaeTtcs nyTemM 3anvucu nocnegoBarenbHbIX Lernbix yncen ot 1 go 50.
1234...4950

YOoanve HekoTopble Undpbl M3 NPUBEOEHHOro Bbille Yucna, nonydute Hambonbwee 81-3HayHoe
yucrio. Yemy paBHa cymma yganéHHbIX umdp?

A) 46 B) 45 C) 37 D) 36 E) 32
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14. A 2024 digits natural number which has all its digit 2 is given.
What is the sum of the digits of the number obtained by multiplying this number by 22227

[aHo 2024-3Ha4yHoe HaTypanbHOE YMCNO, BCe LMpbl KOTOPOro paBHbI 2.
Yemy paBHa cymma Lmp 4mcna, Nony4eHHOro YMHOXEHUEM 3TOro Yncna Ha 22227

A) 14163 B) 14170 C) 14177 D) 14184 E) 14191

15. Efe, who goes for a ride with his bicycle in the park, is at the entrance of the park at 08.00 am.
There is one of each kind of tree in this park. Efe passes by acacia tree at 08.20 am, plane tree at
08.35 am, poplar tree at 09.05 am, cedar tree at 09.45 am, hornbeam tree at 10.45 am and reaches
the exit of the park at 11.00 am. After resting for half an hour, it sets off towards the entrance

from the same road it came from, at a constant speed of half the speed of its arrival.

According to this, at what time does he pass by the plane tree on the way back?

Ade, KOTOpbIN BbILLESN KaTaTbCA Ha Bernocuneae B napke, Haxogutes y Bxoga B napk 8 08.00. B
3TOM Napke ecTb Mo OAHOMY AepeBy Kaxaoro Buga. dde npoxoant mumo akaumm B 08.20,
nnataHa B 08.35, Tononsa B 09.05, kegpa B 09.45, rpaba B 10.45 n npmxoaut k Bbixoay B 11:00.
OTOOXHYB non4vaca, OH OTNpaBnseTcs K BXogy Mo TOW e A0pPOoru, no KOTopow npuLlen, ¢
NOCTOSIHHOM CKOPOCTbLIO, PaBHOM MOMOBUHE CKOPOCTU ero npuxoaa.

CornacHo aTomy, B Kakoe BpeMsi Ha 06paTHOM NyTK OH NPOXOAUT MUMO nnaTaHa?

A) 16.40 B) 16.20 C) 16.00 D) 15.50 E) 15.40
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16. While Hulya, Hatice and Bilge were studying together, they took a mock test and timed it and
stayed in the test for 61, 65 and 53 minutes, respectively.

Since Hatice started the test at the same time as Hulya and finished the test at the same time as
Bilge, how many minutes did the three of them take the test at the same time?

Moka Xions, Xatumpke n bunbre yunnucb BMecTe, OHU NPOLLNM NPOOHLIN TECT, 3aCeKnNn Bpems U
npoLwnu Tect 3a 61, 65 1 53 MUHYTbI COOTBETCTBEHHO.

MockonbKky Xatugke Havana TecT OQHOBPEMEHHO C Xkfen U 3aKoH4YMna TeCcT O4HOBPEMEHHO C
Bunbre, 3a CKONbKO MUHYT OHWM BTPOEM NPOLUSN TECT OAHOBPEMEHHO?

A) 41 B) 43 C) 45 D) 47 E) 49

17. 25 students are lined up in a row, one after the other. Each student is either a good student who
always tells the truth or a mischievous student who always lies. Omar, a good student, is the 13th
person in this line. Everyone except Omar says, “There are exactly 6 mischief makers between me
and Omar”.

According to this how many good students are there in this line?

25 y4yeHVKOB BbICTpamMBaloTCA B psig Apyr 3a apyrom. Kaxabiin y4eHUK — nnbo XOPOLUMIA YYEHUK,
KOTOpbIV BCEraa roBoput npaegy, MO0 MNNOXOM yYeHUK, KoTopbin Bcerga rmket. Omap, XopoLuumi
y4eHuK, 13- B aTon odepeaun. Bee, kpome Omapa, rosopsaT: «Mexay mHor 1 OMapoM pOBHO LWECTb
NIOXMX YYEHUKOBY.

CornacHo 3ToMy, CKOfbKO XOPOLLUMX YYEHMKOB B 3TOM ovepenmn?

A) 6 B) 7 C) 12 D) 13 E) 14
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18. A number divisible by 12 consists of only Os and 1s.
What is the number of the digits of the smallest number that satisfies this condition?

Yucno, gensiweecs Ha 12, COCTOUT TOMbKO U3 Hynen 1 eanHniy,
UeMy paBHO KOMMYECTBO UMMP HaMMEHbLUEro 3HayYeHwe u4ucna , yOoBMETBOPSIOLEro 3TOMY
yCrioBuo?

A)3 B) 4 C)5 D) 6 E)8

19. The rule of the number sequence whose first 4 terms are given below is as follows:

71 From the 5th term onwards, each term is the largest digit different from the previous 4 terms.
9,7,6, 2, ...

According to this, what is the 2024th term of this sequence?

[MpaBuno ymcroBon nocrneaoBaTenbHOCTU, NepBble 4 YfieHa KOTOPOW NPUBEAEHbI HUXKE, BbIMMSanT
cnegyowmm obpasom:

HaunHaa c 5-ro, kaxgbl yneH npeacTtaBnsdetr cobon Hambonbllyk umdpy, oTnmyarowasacs oT
npeabiayLwmx 4 YneHos.

9,7,6,2,...

CornacHo atomy, Yemy paBeH 2024-n yneH aTon nocrnenoBaTenbHOCTU?

A) 8 B) 9 C)7 D) 6 E)5
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20. Each side of a cube will be coloured red or black provided that each of the surface of the cube
will have at least one black partition.
According to this, what is the minimum number of separations that can be coloured black?

Kaxxgoe pebpo kyba Gyaet okpalleHa B KpacHbIN UMK YePHbIN LBET NPW YCNOBUN, YTO Y KaXKaomn
rpaHu Kyba byget xoTa 6bl ogHO YEpHOE pebpo.

B cooTtBeTCTBUM C 3TUM, YEMY paBHO HaUMeHbLLEE 3Ha4YeHMe KonmyecTBa pebep, OKpalLEeHHbIX B
YepHbIN LBeT?

A) 2 B) 3 C) 4 D)5 E)6

21. The right side lengths of the yellow right triangle in the fig-
ure are 6 cm and 8 cm. The short side of the grey rectangle
drawn on the same ground as the triangle is 2 cm. When
the rectangle is rotated 90° around point K in the direction

N L of the arrow, point L of the rectangle lies on the hypotenuse

8cm i of the triangle.

Since the distance between the triangle and the rectangle

is 2 cm, what is the area of the region where the triangle

ol K and the rectangle intersect after the rectangle is rotated in

6 cm 2cm 2cm cm??

D,J'II/IHbI KaTeToB XXeJNnToro npAaAMoyrofibHOro TpeyrorfibHMKa Ha pucyHkKe paBHbI 6 cMmun 8 cm. |.|.|I/Ipl/lHa
ceporo npAaMoyrosfibHMKa, HapmcoBaHHOIo Ha TOW e NUHUN, paBHa 2 cm. Ecnin nosopaynm
npAMOYTroJyibHUK Ha 90° BOKPYT TOYKMU Ks HarpasJieEHUN CTPEJIKN, TOYHKA L NPAMOYTroJibHUKa
OKaXeTCA Ha rmMnoTeHy3e TpeyroJibHUKa.

Ecnu paccTtodHue Mexny TpeyroribHMKOM 1 npAMOoyroJfieHMKOM paBHO 2 Ccm, 4YyemMy paBHa nnowangb
obnacTtu B cm?, HOﬂyquHOVI nepece4vyeHnem TpeyrofibHMKa 1 rnpamMoyroribHMKa nocrie noBopoTa
npﬂmoyroanlea?

C) = D) 2 E)

o L
2~

3
A_
)2
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22. If a+b=3 and a*+b?=7, find the value of a®+b® ?
Ecnn a+b=3 n a?+b?=7, yemy paBHO 3Ha4yeHne BbipaxxeHunsa a>+b>?

A) 75 B) 92 C) 105 D) 123 E) 136

23. How many integer solutions does the equation x*>~y?=202 have?
CKOnbKO UenbIX peleHnin MMeeT ypaBHeHue x>—y?=202 ?

A) 0 B) 1 C)2 D) 4 E) 101

24. How many 7-digit numbers whose sum of the digits is 3 are there?
CKOnbKO CyLLEeCTBYEeT CeMU3HAYHbIX Yncen, cymma Lndp KOTopbIX paBHa 37

A) 18 B) 24 C) 28 D) 30 E) 32

25.Givenx,y,z€{0,1,2} anda,b,ce Z* If

Oavo x,y,z € {0,1,2} va,b,c€ Z*

x-3+y-3"+2.3=423

then what is the value of
HanauTe 3Ha4YeHUEe BbIPAXKEHWS.

atb+c
X+y+2Z ,
A) 17 B) 12 o2 D) E) L
5 6 5 6 5




